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Tamil Nadu SSLC Maths Question Paper March 2017 Part 3

Part - 111
senflso / MATHEMATICS

(&I womb <y mdle eyl / Tamil & English Versions)
GmiyLd : 2¥2 wenfl | [ Qurss wHlbluamser : 100
Time Allowed : 2%2 Hours | [Maximum Marks : 100
gleyenr : (1) eveasg eflemasepd sfluirs HFal Leurdl o eTendn 6TeiLISemET
sflunigg s Canerareyd. HFsliLdelledr @Genmuldl(migesr s
sansrafliiurerflib o Leargwirs CgflelldsayLb.

2) Bob dwgy souly owvulmar LLEGCL aWHMUSHEGWD
<145GHTg (HeugD@GLd LwenuBhss Couadr(hd. UL MIGET eueneUsn(E
Quendlé LiweILI(HSSeLD.

Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.
Use Blue or Black ink to write and underline and pencil to draw diagrams.

Instructions : (1)

(2)
GolLy : Geuclanésner e Gflejsmers CaTem_g).

This question paper contains four sections.

Note
S1fey - I/SECTION - I
(wduCuerger : 15)/(Marks : 15)
Geoluy () @uaflefld 2 ater 15 eflemssERsEL clav_waflés e, 15x1=15
(i) Qar@ssuul(Herer mrewE wWIHN el seller Wseyb sfwmar
evemws CosipsOss GMUILOLa ele ey Gsrés
GT(LPSGYLD.
Note : (i)  Answer all the 15 questions.

(1i) Chgose the correct answer from the given four alternatives and write the
option code and the corresponding answer.
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1. f()=x’+5ceafle, f(—4)=
(1) 26 (=) 21 (&) 20 () —20
If f(x)=22+5, then f(—4)=
(a) 26 k) 21 (c) 20 (d) -20

2. @m el (g derii auflansullen HH&5HES epeml 2-mLSET k +2, 4k —6, 3k —2

erafled, k -am todliiy

(==4) 2 (<=%)3 (&) 4 (FF) 5
If k +2,4k -6, 3k — 2 are the three consecutive terms of an A.P., then the value of k is
(a) 2 (b) 3 (c) 4 d) 5

3. @ Cumses Qsriiafmsean wad prag e pliysaa Qumésnumen
256, g6 Gung VgD 4 wHMID Hgen pHe 2 MUY Bens eraim erele,
SBSU ClLh&EGS CgTiir suflevsullen 3 eugy 2 miliy

(=) 8 () 72 @) 3 () 16

It the product of the first four consecutive terms of a G.P. is 256 and if the common
ratio is 4 and the first term is positive, then its 31 term is :

1
(a) 8 (DN © d) 16

¥ N +7 aanuans 1+4 6 au@gd@d Cung feLs@n 4

(-=21) 28 (<) 29 (&) 30 () 31
The remainder when x2—2v + 7 is divided by x+4 is :
(a) 28 (b) 29 (c) 30 (d) 21
5. 2 by+c=0 pmb ¥ +br—a=0 Hdw swerur@seller Qurgeurear ppatd
Cc+a c—a C+ b a+ b
((—‘7)4) zft;k (%) 2h («@) 2a (fT) %
The common root of the equations 2—-br+c=0and x2+bx—a=0 is
C+a c—a c+b a+Db
2b (b) 2b (© 2a () 2
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A=Li i) LOHMILD A+B=(_ _Z\J erafley, yemtl B=
=y @l e m ()

] 1 0) 6 2 -8 =2 8 2
(a) (o 1J (b) (3 _J (c) [ ) ~7) (d) (_1 7}

(=2, 6), (4, 8) pdlw yarafseamer @ameang@n CrrCarliyh@d Cem@dsmer
CpiaCGani. g #miliay

(=) + ()3 (@) -3 (™) -3

Slope of the straight line which is perpendicular to the straight line joining the points
(—2,6) and (4, 8) is equal to :

(a) (b) 3 () -3 ()

(2,5), (4, 6), (a, a) BHwW Laratlaer Gy CrTGHET & emndlamen eTafe, a -6
W&l

(=) -8 (<2p) 4 (@) -4 (/F) 8
If the points (2, 5), (4, 6) and (a, a) are collinear, then the value of “a’ is equal to :
(@) -8 (b) 4 () -4 (d) 8

A g Qairés waGarambseian spparaysd wonGu 24 Qs.8, 18 Qs.5
TE&. (PBHE @&@&lf@mgém RO L&&ED 8 Q& 5 erafe, wHEmmm
p&Caramsdlen 2gHG @5 HESW

(1) 4 Qa8 (<) 3 Qg5 (@) 9 Qa8 (rr) 6 Qg8

The perimeters of two similar triangles are 24 cm and 18 cm respectively. If one side of
the first triangle is 8 cm, then the corresponding side of the other triangle is

(a) 4cm (b) 3 cm () 9cm (d) 6cm
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CAFAEmrsT AABC- ZB=3" 1n00s b LYAC. BD -8 Qs b, Al -2 Q8 18 areflsy,
Ch=

10.

(<) 24 Ly 8 (o) 168 Gaf () 32 Geah i) &gl

AABC s o right angkled g ngle whee Z8=90 and BLLAC. 0 BD= 8 cm, ATI -3 rm,

then (N i -
(a} 24 cm (b, 16<em c] 32 am {d] Bcm
11, L &Fd ZABC
c
g |
I_Q_'_‘; R"&
= | S
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o E
T B
() 457 LD M A (FE) 307
in the :1-:|i-._1'|r'|i ng I'|gu|-_- AA0C =
, 6
ix
F
"-d-l I"'\.
# s
Ef %,
= W
s
M
(1) 45° {b) 30 (A0 (d) 507
1Z. 9 tagcf -9 secth =
(o) 1 ) (&) 9 () —s
g tandy  “sel=
b0 (. {d) L

(a) 1
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13, 100 v s.ide f sumeruriny Jdsrdre. Senemsdlar pmi
(27 23 GEd f=) 100 Ueh (E)) 5 Ag b (i L Gla 8
It the surkace avea of a sphere is 100 0 con®, then its vadizs is equal to
4] 25 om b 100 o it} 5om dd 10 am

14 G:a rbissFia Ogrim e gande A @l Qs WT . aEgIden i dsurs
AU 3 oAt Gumdes e Bgeh P sland Carglidlss Ao sllassn
2] 12 (g} 242 (& 842 (=) @72
Standacd Gevintion of 2 colicrtion nf a citks is 22 . ) sach value js 1o ipised oy 3,
tach :he stardard deviatien ol the neve data is :
(ai: 12 (bl 42 R (d) w2

(1.

32 £ R Gardr_ @ AUpas s dlmpn Son FLO w@EBLILTS 2aF

Gl LIS raue) 2r& e e LIDW 20 R T EFINGC T (ki) Gy ey
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& ard is drawp (o o pack of 57 catds af izodeme The probability of gelling neither
an ace roc o king card L5

2 1 !

{a) 5 ® 1 £ 3 (L
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